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Ex/Sans/UG/5.3/39/2017

BACHELOR OF ARTS EXAMINATION, 2017
(3rd Year 5th Semester)

SANSKRIT (Honours)

Course : XIII

[ Epigraphy and Arthasastra ]

Time : Two Hours Full Marks : 30

The figures in the margin indicate full marks.

1. õF]ÞP;FÞF ¼WæFÎFF;FÜFFa ˜F PáFÑÜFF ·FÜFO ÒèÎFFO õFÛFFÍFWÜFF:— 1×3=3

(=+) ÛFµ©ÞF¡FõÜF ÛFùWÎ½P;FÞWè˜F ÞF¡ÜFÜFX: ÎFFÛFÂÜFÛF]PááF&ÜF¶FFÛFh—

(&F) õFÛF]½;F]Ñ¶F: =W+ðFFk ÍÜFFÎFÑFF·FÛFh EFõFU¶Fh?

(;F) ...ÛFÎ·F¼U‡FFÚÜF]ÑF;F¶FÛFÎFõF: < õFÛF]½;F]Ñ¶FõÜF ÛFÎF: =+PõÛFÎFh ÛFÎ·FW
¼U‡FFÛFh EÚÜF]ÑF;F¶FÛFh?

(fF) õFÛF]½;F]Ñ¶FõÜF ÛFF¶F_æFkèF: PÑF¶FFÛFùõÜF ÎFFÛF ˜F HPááF&ÜFW¶FFÛFh—

(‘~) õFÛF]½;F]Ñ¶FWÎF =+: èFÙ¼: ÒP¶FPò¶F:?

2. EÍFXPáFP&F¶FWðF] ÂFY ÒèÎFFY õFÛFFÍFWÜFFY— 6×2=12

(=+) ÜF: PÑF·FFPÚFPù¶FX PÎFÞU‡ÜF PÎFP&FáFFk ÑFFþWæFÛF]æFUaPÛFP¶F < iPÑF·FFj
GP¶F èFÙ¼WÎF =+õÜF ÑFÞFÛFèFa:? GÜFk ÑF‘h~Pƒ¶F: ÜFõÜF èáFX=+õÜF
EPÎ¶FÛF˜FÞµFÚF[¶FF ¶FõÜF JWP¶FùFPõF=+ÛFFùF¶ÛÜFÛFh EF áFX˜ÜF¶FFÛFh—

(1+5)
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(&F) õFÛF]½;F]Ñ¶FõÜF EFÜFFaæF¶FaPæF¡FÜFWÎF õFù ¼P‡FµFFÑF»FPæF¡FÜFõÜF =+X
ÚFW¼:? ¼P‡FµFFÑF»FPæF¡FÜF=+FáFW ¶FWÎF ÜFF ÎFUP¶F: EæFáFPÛÙF¶FF
¶FõÜFF: õæFàÑFk PæF ÛF_èÜF¶FFÛFh— =W+ÎF ùW¶F]ÎFF ¶FWÎF GÜFk ÎFUP¶F:
EFPêF¶FF GP¶F EÎF] ÛFUÜF¶FW? (2+2+2)

(;F) EÍFXPáFP&F¶FFÎFFk ÑFPÞ˜FÜFF: ÜF»FFõFkÚFæFk ¼WÜFF: < 1×6=6

;FµFÑ FP¶ FÎF F;F:, H;F eõF W Î F:, =+¶F _ a Ñ F ]ÞÛF h , õFÎF=+FÎFU=+F:,
¼YæFÑF]·FðFFPùðFFùFÎF]ðFFPù:, GPÞðFWµF:—

3. EÍFXPáFP&F¶FWðF] ·FÜFO ÒèÎFFO õF]ÞP;FÞF ¼WæFÎFF;FÞUÛFFPêF¶ÜF õFÛFFÍFWÜFFO—
1×3=3

(=+) =+U¼_èFX ÞF¡FF ˜FF¶F]ÞÎ¶FXNPÑF õFÃX PæFÎFèÜFP¶F?

(&F) =+FYP©áÜFÛF¶FW P·FæF;FaÛFÍÜFW =+õÜF ÒFÍFFÎÜFk =W+ÎF ˜F ùW¶F]ÎFF?

(;F) ÑFF YÞ¡FFÎFÑF¼FÎFFÛF h EÑFõFÑF aµF k  =+PõÛFÎF h =+FÜF W a õFkÑFFP¼¶FW
=+¶FaæÜFÛFh?

(fF) æÜFõFÎFU, PÛF»ÜFF˜FFÞæFFPÞ¶F:, õFFùPõF=+:, ÞF¡FÂWðFU < J¶FW
=_+¶ÜFFÎFFk ÜF»FF=e+ÛFk =W+ðF] æF;FWaðF] EÎ¶FÚFaæFPÎ¶F?

(‘~) =+FYP©áÜFÛF¶FW ÞF£F: EÎF]¶»FFÎFW =+F ùFPÎF: ÚFæFP¶F?

4. EÍFXPáFP&F¶FWðF] ÂF Y ÒèÎFFY õFÛFFÍFWÜFFY— 6×2=12

(=+) ÞF¡FF õæFPæFðFÜFW =_+¶ÜFPÎFµFaÜFk =W+ðFFk ;F[³ÑF]ßðFFµFFk õFùFÜFWÎF
=]+ÜFFa¶Fh? =W+ÎF HÑFFÜFWÎF ¶FW ;F[³ÑF]ßðFF: G¼k =+ÛFa õFk ÑFF¼ÜFWÜF]:?
=_+¶ÜFWðF] PÎFµFUa¶FWðF] =W+ÎF Ò=+FÞWµF ¶FFÎFh ÒP¶F ðFWÍFÜFWÜF]:?

(2+2+2)
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(&F) =+P¶F ÑF]·FPæFèFWðFF: =+FYP©áÜFWÎF HPááFP&F¶FF:? Ò¶ÜFW=k+ ¶FWðFFk
õæFÚFFæF: =+FYP©áÜFÛF¶FÛFh EFPêF¶ÜF H˜ÜF¶FFÛFh— ÜFP¼ ÞF¡FF
J=+ÑF]·FX æF_ÊX æÜFFPÍF¶FX æFF ÚFæFP¶F ¶FPùa ¶FWÎF P=k+ =+ÞµFUÜFÛFh?

(1+2+3)

(;F) P¼æFõFõÜF ÑF[æFWa EñÚFF;FW ÞF¡FF P=k+ =]+ÜFFa¶Fh?

(fF) ÑFÞPæFðFÜFW =_+¶ÜFF: =W+ÎF Ò=+ÞWµF HÑF¡FFÑÜFF: ÚFæFPÎ¶F?
____________
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